Appendix 3: Threshold network exercise example



Scenario

The country is currently in recession and this has led to lower tax revenue (because of more unemployment and less business profits) and higher spending (on welfare benefits). The result is a large deficit. The government decides to raise tax rates and lower government expenditure. 
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 Is the government’s decision a good idea?

In doing this you should: 

(1)
Consider an economic framework or model that you think is going to be useful. Draw an appropriate diagram. 
(2)
Identify three important economic concepts from the list below you would use in answering this question and explain why they are important in this context. 
	Inflation
	Injections

	Interaction between markets
	Social costs

	The multiplier (cumulative causation)
	Scarcity

	Investment
	Consumption

	Withdrawals
	Oligopoly 


(In the list there are concepts that are irrelevant and concepts that are useful. Some are arguably more useful than others. Although there are some ‘wrong’ answers there is not just one ‘correct’ one. Our feedback highlights our choice of three concepts but you will find we use others on this list as well. In making your choice try to discard the irrelevant and consider what you think is the most important amongst the others and why.) 
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 feedback 
[image: image3.wmf] Feedback (Intermediate)

What concepts from the list are important? Arguably, the most important concepts here to use are the multiplier, withdrawals and injections. You may also use interaction between markets and consumption in an answer. The reasons for their importance relate to the model used and is explained below. Scarcity, social costs and oligopoly are not useful here. 
What model you should use depends to some extent what you have covered in your course. The income/expenditure (or injections/withdrawals) model is appropriate if you have covered it; the IS/LM and AD/AS models can also be used, but are more complicated in this context and do not fully illustrate all the relevant points, so are not as appropriate. If you have only covered the circular flow of income model this can also be used and an answer on this basis is provided in the ‘basic’ version of this exercise.


[image: image4.emf]E=YEY

Did you label the 
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E3 includes the decreased government 
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Did you clearly label the 

different expenditure and income levels?

Did you clearly indicate the new 

equilibriums and the multiplier effect? 



Lowering government expenditure (an injection) and raising taxes (a withdrawal) will decrease aggregate expenditure (demand) in the economy (shown as movements from E1 to E2 to E3 on the diagram) and hence lower output (and income, shown as Y1 to Y2 to Y3 on the diagram), deepening the recession. The size of the effect depends on the multiplier. Considering just the reduction in government expenditure, this will reduce incomes (because for instance jobs in health care and education are cut) and thus reduce consumption: this will lead to a further reduction in jobs as less goods are demanded, which will again reduce consumption, etc. 

However, this process is limited as the ‘second round’ effect on consumption is less then the initial fall in incomes as people also reduce savings, buy less imports and pay less taxes. That is withdrawals go down automatically if incomes decrease. This is part of the process of restoring equilibrium – injections have gone down and the resulting fall in incomes leads withdrawals to fall. The diagram shows the overall position at equilibrium where the decrease in income, ∆Y, is limited but is more than the decrease in government expenditure ∆G. 

An increase in taxes as a policy change would also reduce incomes and induce a further (but limited) fall in consumption (shown by the further movement to E3). Thus the combined effect of the policies would deepen the recession, which is not a good idea. 

Notice that we did not consider explicitly if the tax was lump-sum or depended on income. As drawn in the diagram the tax increase in the diagram is lump sum, as this is the simplest to consider. Both cases give the same direction of changes and so the same answer and so it is appropriate to use the simplest case to illustrate the effects. 
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What concepts from the list are important? Arguably, the most important concepts here to use are the multiplier, withdrawals and injections. You may also use interaction between markets and consumption in an answer. The reasons for their importance relate to the model used and is explained below. Inflation, scarcity, social costs and oligopoly are not useful here. 
What model you should use depends to some extent what you have covered in your course. If you have covered the circular flow of income model this can be used in an answer. If you have covered the income/expenditure model this can be used in a slightly more advanced answer (this is provided in the ‘intermediate’ version of this exercise).
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Circular Flow of Income 

Fall in income 

Lowering government expenditure, an  injection (shown in bold in the diagram),lowers incomes (as, for instance, cuts are made in employment in health and education services). This reduces consumption (there is less going around the flow) and  leads to less overall demand for goods. Firms will have reduced sales and this leads to further decreases in employment and  income, which again reduces consumption around the flow (the multiplier effect). 

Fall in consumption


However, this process is limited as the ‘second round’ effect on consumption is less then the initial fall in incomes as people also reduce savings, buy less imports and pay less taxes – withdrawals go down automatically if incomes decrease. This is the process of restoring equilibrium – injections have gone down and so will withdrawals. 

Increasing taxes as a policy change, a withdrawal (shown as bold in the diagram), leads to less consumption as disposable incomes fall. Again, there is a multiplier effect. 

The combined effect is a deepening of the recession, which is not good. 
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Yes    Partly   No
	1.
	Did you illustrate the diagram correctly and use it to illustrate your answer? 
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	2.
	Do you understand how the initial changes induce more changes as the economy returns to equilibrium? 
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	3.
	Do you understand why the concept of the multiplier is important here?
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If your answer is ‘No’ or ‘Partly’ to any of the above, which of the following do you now intend to do to improve your understanding?

	1. Ask for guidance from my tutor.


	

	2. Read a relevant section in a textbook.


	

	3. Work though some example questions.
	








E=Y

E

Y









Did you label the axes correctly?
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E1 is the original level of expenditure

E2 includes the decrease in government expenditure

E3 includes the decreased government expenditure and increased taxation 



Did your expenditure lines slope upwards to show consumption increases with incomes?
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Government expenditure multiplier =





Did you clearly label the different expenditure and income levels?

Did you clearly indicate the new equilibriums and the multiplier effect? 
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Lowering government expenditure, an injection (shown in bold in the diagram), lowers incomes (as, for instance, cuts are made in employment in health and education services). This reduces consumption (there is less going around the flow) and leads to less overall demand for goods. Firms will have reduced sales and this leads to further decreases in employment and  income, which again reduces consumption around the flow (the multiplier effect). 



Fall in consumption












